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. (A (i) LetU=¢{1,2,3,4,56,7,8,9,10}, A={1,2,3,4} and B = {2, 4, 6, 8}.
Answer the following questions. 7

(1) A' ('is the symbol for complement)
2) AuB
3) AnB
4 A-B
(5 AAB
6) (BY
(7) A'UB'
(i) Let A={l,2,3,4} and B = {2, 4, 6, 8} and a function f:A—B defined as

f(x) = 2x and g:B—A defined as g(x) = % Answer the following questions. 7

(1) Range of f.

(2) Range of g is equals to co-domain of g. (True/False)
(3) Isfog=gof?

(4) Is faone-one function ?

(5) What will be the domain of the function fog ?

(6) Find (f+2)(2).

_l’_
(7) Find ﬂ%g@

OR
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(i) LetU={xeZ|x*<10},A={xeU|[x<0}andB={xe U|x>0}.
Answer the following questions.

() AuUB
(2) (AuB)
3) A'NnB
4 U-A
5) A-U
6 U

(7Y AnB

3
(B) Do as Directed : (Any Four)

+ 1
(i) Iflog (U) = (log x+log ), then verify that .2 + y* = 1 Lxy, (x> y > 0).

(1) If A is a singleton set, then its power set is empty. (True / False)
(i1)) Every set has proper subset. (True / False)

(ii1)) Every function is one-one and onto. (True / False)

(iv) Every function has finite range. (True / False)

(v) Leta function f:Z—Z, f(x) = |x|. The range R is equals to

(@ R#N (b) RFZ

(¢) Re=NuU{0} (d) None of these
(vi) A function is onto if,

(@) R;=C (b) R;=Domain of f

(c) fisone-one (d) None of these

2 3 1
2. (A) (1) LetA= [ 1 o } and B = [ | 3 } Answer the following questions.

(1) A+B
(2) A-2B
(3) AT+BT
(4) AB

(5) A+B)T

(6) RankofA
(7) Verify (A+B)T=AT+BT
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(i)

(@)

(ii)

Solve the following system using inversion Method : 7
xty+z=3
x+2y+3z=6
3x+ty+2y=6
OR

Let A be a square matrix given below. Prove that A can be written as a sum
of symmetric and skew-symmetric matrices.

3 -2 1
A= 0 5 6
I 1 2

1 1 -1 1 =2 2
LetA=| 1 2 -3 |andB=| 3 2 -1
3 -1 1 3 2 1

Then verify that (A + B)?2 = A2+ 2AB + B2

Do as Directed : (Any Four)
(i) LetA= [aij] and B = [bij] be two matrices. Then A = B if
(a) a; = 0, for i=j (b) aj; = bij forall i, j
(c) AT=B (d) None of these
(i1)) Rank of a Null Matrix of order 3 is
(a) 1 by 2
(¢) 3 (d 0
(iii) If the determinant of a matrix A is 0, then the determinant of AT is equals to
(@) 2 (b) -2
(c) O (d) None of these
(iv) Every symmetric matrix is a square matrix. (True / False)
(v)  Every diagonal matrix is a symmetric matrix. (True /False)
(vi) Inverse of an identity matrix is itself. (True / False)
3 P.T.O.



3. (A) (i) Lettwolinesl, :1lx—y+1=0and]l,: 6x+ 5y —4 = 0. Answer the

following questions.

(1) Find m; = Slope of a line I,.

(2) Find m, = Slope of a line 1,.

(3) Arel, and |, parallel lines ?

(4)  What will be the slope of a line perpendicular to a line 1, ?
(5) Find the angle between two lines 1, and 1,.

(6) Find the intersection point of two lines 1, and 1,.

(7) Give the line passing through intersection point of above two lines
and (0, 0).

(1))  Show that the points (6, 6), (2, 3) and (4, 7) are the vertices of a right angled
triangle. Also find the area of this triangle.

OR
(i)  Answer the following questions :
(1) Find the distance between two points (1, 2) and (5, 2).

(2) What is the slop of a line parallel to x-axis and passing through
(3.14,2,75) ?

(3) What is the general form of the equation of a line passing through
(0,0)?

(4) Give the equation of a line passing through the two points (1, 1) and
(3, 3).

(5) What is the relation between the slopes of two lines if they are
perpendicular ?

(6) What is the equation of a line with slope 2 and y intercept 2.
(7)  Are three points (2, 3), (5, 8) and (7, 4) collinear ?
(i) Find the equation of two lines passing through the point (2, -1) making an

angle of 45° with the line 6x + 5y — 1 =0.
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(B) Do as Directed : (Any Three) 3

4. (A

(B)

MD-121

(i) Twoliney=3andy =6 are,

(a) Parallel (b) Perpendicular

(c) Making angle of 45° (d) None of these
(i1)) Equation of a line passing through (0, 0) and having slop m = —1 is.

@ x-y=0 b)) x+y=0

(c) x—-y=1 d x+ty=1
(ii1)) Angle between two lines x = 1 and y =1 is 45°. (True / False)
(iv) An equation of a line passing through (0, 0) and having slop 1 isx—y + 1 =0.

(True / False)
(v) Two lines 2x + 5y — 3 = 0 and 4x + 10y — 6 = 0 are perpendicular.

(True / False)

2
(i)  Let a function y = f(x) = 3x2. Find the limit of f(x) if x—0 and also find o2 7
(i) Lety=e*"*3 Find %.xx and f y dx. 7
OR
(i) Find: c?x_z (j (x + %)dx)
1
(i1)) Evaluate : f (3x2 + 4x1+ 3t 2’“) dx
-1

Do as Directed : (Any Three) 3
(i)  The derivative of y = 5 with respect to x is zero. (True / False)
(i1)) The derivative of y = 1+ 2 + ... + 10, with respect to x is zero. (True / False)
(ii1)) Integration of a constant function f(x) = 1 is with respect to x is zero.

(True / False)
(iv) The area under the curve y = 2 with lower limit x = 1 and upper limit x =2

is 2. (True / False)

log,2
(v) fex dx = 1. (True/False)

0
5 P.T.O.
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Let A= {x|x®—7x+10=0}, B= {x |32~ 8x+15=0} and C= {x |x2— 9x +20=0}.

Then verify both the distributive lows.

1+x
If f(x) = log (—) then prove that f (

1_x77

OR

2
1 _xxzj = 2.f(x).

IfA={5,7},B={7,8}, C= {5, 8}, then verify

Ax(BNC)=(AxB)N(AxC).

7

7

1 1
Ifp*=q¥ =pq, thenverifythat;Jr;: 1, where p,q € R* — {1}.

Do as Directed : (Any Four)

(@)

(i)

(iii)

(iv)

v)
(vi)

Let A be singleton set. How many elements in a set P(A) ?

1

None of these

{_13 1}

None of these

Z

None of these

NuU {0}

(@ 0 (b)

(o 2 (d)

The elements of aset A= {x |x*—1=0,x € Z} are
(@) {1,2,3} (b)

© {12} (d)

If f:N—N, f(x) = x, then the domain is

(@ N (b)

() Nu{0} (d)

If f: N — Z, f(x) = x — 2, then R;= the range of the function f'is.
(@ N (b)

() N-{I} (d)

Z - {0}

A function If f: N — N, f(x) = x is one-one function. (True / False)
A relation If f: N - N, f(x) = x — 2 is a function. (True / False).
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2. (A

(B)

3. (A

MD-121

(1)  Solve the following system using Matrix inversion method. 7
2x— 2y + z =1
x + 2y + 2z =2
2x +y — 2z =7

(i1)) Define rank of a matrix. Also find the rank of following matrices : 7
-1 2 2 L 2 3
A=| 3 2 2 |B= L 2 6
1 1 2
OR

(i)  For the following two matrices A and B verify that (A + B)T= AT + BT,

21 2 2 21
A=| 1 2 1 |B=|1 42
31 3 36 3

(i) IfA= [ i g }, verify that A2 —7A — 21 = 0, where I is of order 2.
Do as Directed : (Any Four) 4
(i) LetA= [aij] be a Square Matrix. Then it a scalar matrix if

(a) a; = k foralli=}, k € R (b) aj; = 1 foralliandj

(©) a; = kforalli#j,k €e R (d) None of these

(i1)) Rank of an identity matrix of order n is

(@ 1 (b) n
¢ O (d) None of these

(ii1)) Any matrix A can be written as a symmetric and skew symmetric matrices.
(True / False)

(iv) For any two matrices A and B, ATBT = BTAT, (True / False)
(v)  All diagonal entries of a Skew-symmetric matrix is zero. (True /False)
(vi) Inverse of an identity matrix is itself. (True/False)

(i) Determine x so that 5 is the slope of the line through (x, 12) and (3, 2). 7
(i1)) Prove that the points (4, 3), (7, —1) and (9, 3) are the vertices of an isosceles
triangle. 7
OR

(1) If a point P(1, 2) divides a line segment joining points A (-2, —1) and B in
the ratio 2 : 3, then finds the co-ordinates of point B.
(1)) Find the equation of a line passing through the intersection of the lines
x—2y—-2=0and 2x—-5y+1=0and
(1) having Slope — 1/2.
(2) Isperpendicular to 3x — 2y + 11 = 0.
(3) Isparallel to2x—5y+ 13 =0.
(4) having x-intercept 2.
7 P.T.O.



(B) Do as Directed : (Any Three)
(i) Twolinex=3andy=3 are,

(a) Parallel (b) Perpendicular
(c) Making angle of 45° (d) None of these
(i) An equation of a line passing through (0, 0) and making angle 0° with
x-axis is
@ x-y=0 (b) x+y=0
(c) x—-y=1 (d) None of these

(iii)) There points (1, 1), (2, 2) and (3.14, 3.14) are collinear. (True / False)
(iv) Equation x + y = 0 passes through (0, 0). (True / False)
(v)  Two lines are parallel if m| = m,. (True / False)

. 51
4. (A) (1) Evaluate following limit : x11_r>nl );3—_1
d
(ii) Find'g> when y = log(3x - 5)°.
OR
d
(i)  Find 3 for given y = e2*+3 + (2x + 3).

dx

(i1))  Evaluate : J(3x +4)° dx.

(B) Do as Directed : (Any Three)
(i)  The derivative of y = (x + x + x) is

(@ 0 (b) 1

(c) 2 (d) None of these
(1)) Asx — 0, the constant function f(x) = 3, tends to,

(@ 3 b 0

(c) o (d) None of these
(i1i1)) Integration of a function f(x) = 2 is,

@ o0 (b) 1

(c) 2 (d) None of these

1
) d

(iv) a({(x2+3) dx]=

(@ 0 (b) 1

(c) 2 (d) None of these
(v)  The derivative of the following function y with respect to x is,

y=1+
3+ 4 6
5+ . 8
9
(@ 0 (b) 1
(c) 2 (d) None of these
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